iEIRICR T 3EEMITRAISEARD7H 1S ICEI(AR P
FEEWOUIE RV EFICETS THAEAFZD7HB1S(CEI(D
- O
R, 15 5H [B:] 7H 8H ER:| 105 11 21 TH 21 R o 5]
AT H(EER) o 5 5,243 5,496 2,815 2,991 5,143 2,825 5,159 5,191 5,045 2,523 2,420 61,439 5,120
o WA R kg 4,910,490 5,214,700 4,531,650 5,490,820 5,443,170 5,001,810 5,024,830 4,775,520 5,450,100 4,543,360 3,934,100 59,193,270 4,932,773
A mCn(FER) BAEK S 3377 3,413 3,395 3,518 3,486 3,302 3,541 3,445 3,756 3,002 3,129 70,866 3,406
o WA R kg 2,821,540 2,849,620 2,753,220 3,055,850 3,020,390 2,803,160 2,884,630 2,880,280 3,039,020 2,631,050 2,491,580 33,817,670 2,818,139
AR (- %) BAEK = 7 6 0 0 0 6 8 3 T 19 28 89 7
PN kg 3,670 2,590 0 0 0 3,820 8,390 460 920 12,770 17,460 72,800 6,067
AT (DR R m k.:. 27 26 24 39 23 83 22 22 52 16 12 298 22
= q 13,480 13,990 9,370 20,040 12,240 25,550 15,720 9,030 19,530 7,700 4,990 191,920 15,993
M (W — ) BAEK = 38 71 81 93 103 189 199 1950 146 97 83 1,353 113
* WA R kg 7,820 13,220 15,390 28,400 21,870 38,120 44,140 37,180 26,290 28,050 20,480 294,310 24,526
= ® 5 - % WAEK 5 83 69 85 £z 82 77 89 87 82 76 73 979 82
o WA kg 110,080 98,160 119,630 116,930 104,820 89,470 107,340 113,090 99,700 91,360 104,400 1,275,550 106,296
e BAEK (= 55 62 52 55 55 48 50 54 51 25 39 620 52
WA R kg 36,660 54,880 38,620 39,070 36,430 33,800 40,160 40,360 36,440 29,750 27,330 450,460 37,538
T MmEE A BAEK (= 158 166 126 118 112 110 135 133 133 100 101 1,526 127
DN kg 124,630 146,280 90,310 89,430 88,130 87,840 109,360 111,470 111,030 80,600 84,680 1,242,970 103,581
5 o * BAEK = 6 6 5 7 8 14 12 3 (2] 7
WA S k. 8320 7,520 7,040 5.900 5.830 10,110 11,250 19,070 14,640 6,700 5630 109,000 9,083
= pn AT = 8,997 T,315 8,583 8912 T,079 B0 0,231 0,139 10,278 797 7,890 07,458 B,955]
= ® WA R kg 8,036,690 8,400,960 7,565,230 8,846,440 8,732,880 8,093,680 8,245,820 7,986,460 8,797,670 7,431,340 6,690,650 96,647,950 8,053,996
72 52 73 59 89 50 89 88 86 3 56 3l 358 80
S V-5 N — S L — = | — v A ¥ | ¥ & | — ¥ | E— ¥ | - Y R ] 175 210
233 323 332 381 30, 27/ 305 313 %52 7% 2471 2 3481 290
75 5H [ 7H 8H ER;| 10 5 11 2 TH 25 R o T ]
T &I0) 1,132.51 1,623.61 3,240.15 3,185.12 1,856.88 3,302.63 3,388.43 3,379.75 2,796.52 3,476.96 3,191.64 31,299.31 2,608.28
- /A 3,108.60 1,763.67 3,234.18 3,574.61 2,294.14 2,632.86 2,133.83 1,253.22 3,461.17 3,469.56 3,246.83 33,522.33 2,793.53
303502 360003 344686 _____3,50323 3407250 338451 1,30030 _ ___ 1,280.40
3 1R pi=] b =]
i 7H 8H ER;| 10 5 11 21 TH 21 3H T 5]
EESIZSEE T 1,267 1,262 1,277 1,275 1,262 1,267 1,273 1,266 1,285 1,328 1,292 1,321} 1,281
15% ECABAONREE i 186 183 184 185 178 185 185 184 182 184 184 18 184
HEAZRROCORE ppm 11 24 10 14 12 i1 i5 14 10 6 7 12
LSESIESE T 1,286 1,286 1,290 1,276 1,258 1,282 1,283 1,261 1,290 1,291 1,301 1,31 1,285
28R ECABAONRIRE i 180 182 184 184 178 186 185 177 179 182 183 18 182
FAZDOCOERE ppm 14 13 10 13 11 11 10 9 10 9 5 13 i1
T 1,305 1,300 1,310 1,268 1,273 1,278 1,280 1,281 1,270 1,295 1,270 1,28 1,285
182 183 186 186 186 187 186 185 185 185 181 185 185
i1 14 18 12 i1 i1 i5 12 i5 8 7 13 12
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[Pa——- e SHI3H~21H TIH20~9H TH278~2H5H
AT T3J3AY SH18E~21H 11828~9H 2H38~8H
P —— TG0~ SH20H~21H TIH12H~16H 2ALIH~13H
= ARSI 5H22H 115115 28125
5 3 A Bl (£E4[8])
T 15 5H [ ;] 7H 8H ER;| 105 11 2 TH 21 3H T 5]
TR — — — 6H8H — — OR3H — — T2H3H — — 3840 —
15% AERRE — — — 7A17H — — 10A8H — — 1875 = = 4A6H =
FAATS ABRE ng-TEQ/miN = = 0.0035 = = 0.00072 = = 0.00210 = — 0.00035
WRE = = = [BEL=] = = = = = 2540 = 2H5H 3H5H =
25% AERRA — — — 7A178 — — — — 1875 = 38105 4760 =
FAAES AR ng-TEQ/miN — — 0.0011 — — — — 0.00028 — 0.00042 0.000044
3= — — — 6H5H — — T0H8H — = 2850 = = 3H6H =
35% AERRE — — — 7A17H — — 7A17H — — 1875 = = 4A6H =
FAAES ABRE ng-TEQ/miN = = 0.0044 = = 0.00067 = = 0.03800 = = 0.00130
6
5H [3:) 7H 81 o8 10 5 11 2 TH 25 3H T 5]
TR = 7H 8H 2H = 3H 2H 5H 3H 7H Ei=) Eis)
AERRE — - 310 28H 310 - 208 306 250 248 28H 270 31H
125 FUCABE g/mN - 0.001 %4 0.001 % 0.001 % - 0.001 % 0.001 % 0.001 * 0.001 * 0.001 * 0.001 % 0.001 xg 0.001 |
w ppm - 1.0 1.0 & 1.0 *% - 1.0 * 1.0 % 1.0 % 1.0 % 1.0 *% 1.0 *% 1.0 % 1.0
ppm - 18.0 11.0 13.0 - 14.0 14.0 10.0 18.0 16.0 20.0 16.0 15.1
ppm - 5.0 5.0 5.0 - 5.0 8.0 2.0 10.0 10.0 6.0 9.0 6.8
— 30 78 1] 30 &H = 30 = 1] 80 50 50
= 250 316 28H 316 29H - 306 - 248 28H 276 316
22% g/mN 0.001 % 0.001 % 0.001 % 0.001 % 0.001 % - 0.001 *# - 0.001 % 0.001 * 0.001 % 0.001 %7 0.001 |
w ppm 1.0 & 1.0 %% 1.0 * 1.0 *% 1.0 %% - 1.0 *% - 1.0 *% 1.0 *% 1.0 * 1.0 1.0
ppm 14.0 18.0 17.0 17.0 19.0 - 17.0 - 15.0 20.0 21.0 21.0 8.1
ELKRRE ppm 6.0 9.0 6.0 6.0 5.0 - 10.0 - 8.0 10.0 8.0 8.0 7.8
TRE — 1] 80 50 1] 78 1] = &H 5H = = &H
AERRE — 250 310 28H 310 29H 208 - 250 248 - - 31H
32% FUCABE g/mN 0.001 % 0.001 % 0.001 % 0.001 % 0.001 % 0.001 * - 0.001 % 0.002 - - 0.001 %7 0.001 |
- REEEY ppm 1.0 & 1.0 * 1.0 *% 1.0 * 2.0 1.0 & - 1.0 % 1.0 *% - = 1.0 11 5
ERBCEE ppm 21.0 17.0 15.0 17.0 18.0 18.0 - 16.0 17.0 - - 22.0 17.9
ELKRRE ppm 11.0 5.0 10.0 8.0 15.0 7.0 - 8.0 7.0 - - 7.0 8.7
55) Tt PRI BOBIRVC VT, Bt FIRBEL CRLEA T, FBEHELTI&. Ei FPRIBZ LSt CEDTIIBAGII 3 2 8UBZBABUNS.




